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CASE 654-07, STYLE 1

Rating Symbol Value Unit
Collector-Emitter Voltage VCEO 60 Vde | Collector 7 Coltector
Collector-Base Voitage VCBO 80 Vde )
6
Emitter-Base Voltage VEBO 6.0 Vde 8ase Base
Collector Current — Continuous Ic 40 mAdc 3 Emitter o
One Die | Both Die
Total Device Dissipation @ TA = 26°C PD 0.3 0.6 Watt DUAL
Derate above 25°C 1.71 3.4 | mwrc AMPLIFIER TRANSISTOR
Total Device Dissipation @ T¢ = 25°C Pp 0.6 1.2 Watt
Derate above 26°C 3.4 6.8 | mwrc NPN SILICON
Operating and Storage Junction T4 Tstg —65 to +200 °C
Temperature Range

Refer to 2N2060 for graphs.

ELECTRICAL CHARACTERISTICS (Ta = 25°C unless otherwise noted.)

r Characteristic Symbol Min Max Unit
OFF CHARACTERISTICS
Collector-Emitter Breakdown Voltage(1) (lc = 10 mAdc, g = 0) V(BRICEO 60 — Vde
Collector Cutoff Current {Veg = 5.0 Vdc, Ig = 0) IcEO — 10 nAdc
Collector Cutoff Current (Vcg = 60 Vdc, Ig = 0) IcBO — 0.01 pAde
(Ve = 60 Vdc, Ig = 0, Ta = 150°C) — 10
Emitter Cutoff Current (VEg = 5.0 Vdg, Ic = 0) IeBO — 10 nAdc
ON CHARACTERISTICS
DC Current Gain {lc = 100 pAdce, Vcg = 5.0 Vdc} hgg 30 120 —
{ic = 1.0 mAdc, Vgg = 5.0 Vde) 35 —
{tc = 10 mAdc, Vcg = 5.0 Vdc) 42 —
Collector-Emitter Saturation Voltage {lc = 10 mAdc, Ig = 1.0 mAdc) VCE(sat) - 1.0 Vde
Base-Emitter Saturation Voitage (Ic = 10 mAdc, Ig = 1.0 mAdc) VBE(s_a}) 0.65 0.85 Vde
SMALL-SIGNAL CHARACTERISTICS
Current-Gain — Bandwidth Product {Ic = 10 mAdc, VG = 10 Vdc, f = 20 MH2) fT 80 — MHz
t
H Output Capacitance (Vcp = 5.0 Vdc, g = 0, f = 1.0 MHz) Cobo = 6.0 pF
input Impedance (lg = 1.0 mAdg, Vgg = 5.0 Vdc, f = 1.0 kHz} hip 25 32 ohms
Voltage Feedback Ratio ({Ig = 1.0 mAdc, Vgg = 6.0 Vde, f = 1.0 kHz) hrp — 500 X 16-6
Small-Signal Current Gain {Ic = 1.0 mAdc, Vgg = 5.0 Vde, f = 1.0 kHz) hfe 30 200 —
Output Admittance (ig = 1.0 mAdc, Vgg = 5.0 Vde, f = 1.0 kHz} hob — 1.0 pmhos
MATCHING CHARACTERISTICS
DC Current Gain Ratio(2) hre1/hFE2 -
{lc = 100 pAdc, Vcg = 6.0 Vdc)
0.8 1.0
Base-Emitter Voliage Differential IVBE1-VBE2| mVde
{Ic = 100 pAdc, Ve = 6.0 Vdc)
— 10
Base-Fmitter Voltage Differential Change Due to Temperature A{VBE1-VBE2)
{ic = 100 pAdc, Vcg = 5.0 Vde, TA = —55t0 +25°C)
— 1.6
{ic = 100 pAdc, Vo = 5.0 Vde, T = +25to +125°C)
— 2.0

(1) Pulse Test: Pulse Width =< 300 us, Duty Cycle < 2.0%.
{2) The lower of the two hgg readings is taken as hpgq for the purpose of measurement.
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